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Select the sentence which is grammatically
wrong.

ENGLISH 4.

1. A) A man and his wife has lived here
since 2009.

B) Arun, a great scholar, is dead. 5

C) Eeither James or Peter is to be
promoted.

D) The horse as well as its rider was
hurt.

2. A) Every tree has been saved.
B) Each men was rewarded.

C) Neither Ram nor Shyam was
present. 6.

D) Not only India, but also the whole
world recognises Gandhiji's
achievement,

Choose correct option for the underlined
word in the following sentences.

7.
3. The old man had a frightened look.
A) verb
B) adjective
C) adverb
D) noun

c

He behaved strangely,
A) preposition

B) modal

C) adverb

D) adjective

. I'like this picture, but not that one.

A) noun
B) pronoun
C) conjunction

D) article

Fill in the blanks with appropriate word
from the options.

The children waded in the
A) creek
B) creak
C) cread

D) crake

The competition will test her
A) metal
B) mettel
C) mettle

D) metel
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8. The restaurant serves Korean food 12,
adapted for the American

A) palate
B) plate
C) palette
D) palat

Select correct option for the underlined
word.

13.
9. The jewellery in the box is hers.

A) possessive pronoun
B} interrogative pronoun
C) reflexive pronoun

D) relative pronoun

10. Whom do you want to speak to ?

A) distributive pronoun

She has seen something. (Change to

simple present)

A) She is seeing something
B) She saw something

C) She sees something

D) She has been seeing something

They played football. (Change to past

continous tense)

A) They had played football
B) They are playing football
C) They piay football

D) They were playing football

B) reflexive pronoun Select appropriate conjunction to fill in the

C) interrogative pronoun blanks.

D) relative pronoun

14.
Change the following sentence as directed.

11. | am playing tennis. (Change to
present perfect)

A) 1 have played tennis
B} | had played tennis

C) | played tennis

D) | was playing tennis

C Page No. 4

Speak softly the baby

should wake up.
A) if

B) though

C) lest

D) because

12 NECE
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15.

16.

he drove fast, he
could not reach on time.

A) till
B) untill
C) since
D) though

Memorize your poem well
you get good marks.

A) so that
B) because
C) no sooner
D) though

Choose correct verb from the options to fill
in the blank.

17.

18.

Anybody welcome.

A) is

B) are
C) were
D) have

Each of these sentences
corract.

A) were
B) are
C) have
D) is

Page No. 5

19.

Everybody in our school

games in the evening.
A) play

B) plays

C) are playing

D) have played

Fifl in the blanks with appropriate verb
forms from the given options :

20.

21.

22,

it last night.

A) was raining
B) raining

C) were raining
D) has rained

I Mrs. Lal walking
up and down in the garden.

A) seen
B) saw
C) see
D) seeing

I when | heard a loud
noise.

A) read

B) had read

C) were reading
D) was reading

12 NECE




Fill in the bilanks with suitable articles.

23.

24,

25.

There is very litlle cloud cover at
moment.

A) a

B) the

C) an

D) not needed

Andaman and
Nicobar islands are very famous.

A) An

B) A

C) The

D) Not needed

Mount Everest was
seen from a distance.

A) The

B) A

C) An

D) Not needed

Fill in the blanks with suitable preposition.

26. He plays tennis

basketball
and football,

A) beside
B) besides
C) to
D) by

Page No. 6

27.

28.

This is a custom which exists
the tribes.

A} among
B) between
C) in

D) on

| shall be leaving 6 o'clock.
A) by
B) on
C) in
D) to

Choose the correct passive voice for the

given sentences.

29.

30.

“She is taking hef medicine”.

A) Medicine is taken by her

B) Medicine was taken by her

C) Medicine was being taken by her

D) Medicine is being taken by her

“Close all the doors”.

A) Al the doors must be closed
B) All the doors are closed

C) Let the doors closed

D) Let all the doors be closed

12 NECE
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31.

32.

33.

.

PHYSICS

Two point charges exert on each othera
force F when they are placed ‘r' distance
apart in air. When they are placed R
distance apart in medium of dielectric
constant k, they exert the same force,
the distance R equals

A)jf
B) %

C)rk
D) vk

A solid sphere of radius R is charged
uniformly. At what distance from its
surface is the electrostatic potential is
half the potential at its center ?

A) R
B) %%
S

D) 2R

An object is placed in front of a convex
mirror of radius of curvature 20 cm. lts

image is formed 8 cm behind the mirror.
The object distance is

A) 20cm
B) 40 cm
C) 60cm

D) 80cm

Page No. 7

wifesw =

31. T H - v gl W@ o WA
forg 311aw1 T q@dl W aw F o § ) v %
TRt k % fifaege wrem # R g8 w arem
T T B, 8 S U T 1 T FE E

i, 70 R 399 TR}
A)jf
B) %

C)rk
D) rvk

32. R B % U 319 i 9 9uH §9 @ =S

e sran 21 soeht wae & et 9 W

FATICIE &rrar & S 70 g B T R
aTieft 87

A) R
B) %%
o %

D) 2R

33. T& 9% I 20 cm =t Fear B & 9@

T % W T T B e % 9 s
B9 8 cm =l 31 SEg A g R

A) 20cm
B) 40cm
C) 60 cm
D) 80 cm
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34. A plane mirror is placed at the bottom
of a tank containing a liquid of refractive
index . P is a small object at a height
h above the mirror. An observer O
vertically above P, outside the liquid
sees P and its image in the mirror. The

apparent distance between these two
will be

T LT ITTETS

A) 2uh

p-1
D) h[1+-1—-]
1L

35. Two identical glass (ug = %)
aquiconvex lenses of focal length f are
kept In contact. The space between

the two lenses is filled with water
(!—lw = %) The focal length of the

combination is
A) f

B) %
C) %!
D) %!

C Page No. 8

34, T G €4V i T ST (S899) 1
% T A & & A1 W@ 8| P g % FW
h 31 W0 1 H a5 B P FIET |
FR TF THageh O WA o 98t P 3 g9
T Igh B @ €1 Al A e gl

D} h[1+1]
1"

35. % WA T (g = ) iR Pk s
f % THITe ofF G ¥ W@ 9 | 3 el %

AR (,, =44) & WG BN R v
T &) e o 8

A) f

B) %

C) 44t

D) ¥t
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36.

37.

38.

39.

Which of the following will deflect in
electric field ?

A) X-rays

B) Gamma rays
C) Cathode rays
D) Uitraviolet rays

Infrared radiation was discovered in
1800 by

A) William Wollaston
B) William Herschel
C) Wilhelm Roentgen
D) Thomas Young

Two waves of same frequency and
same amplitude 'a’ are reaching a point
simultaneously. What should be the
phase difference between two waves
so that the amplitude of the resultant

wave is v3a ?
A) 90°
B) 45°
C) 60°
D) 30°

A person cannot see distinctly any
object placed beyond 2 m from his eye,
The power of the lens which will enable
him to see distant stars Clearly is

A) 0.05 dioptre
B) 0.2 dioptre
C) —0.5 dioptre
D) 2 dioptre

36. Feforiaa 3 & < g & 3 R 8 7

37.

38.

39.

oo

A) T@E-Y

B) iy fentur

C) eite fomor

D) stegramitere feror

Tt faferor R @i 599 grr 1800 &
Eil

A) faferm deigen

B) faferm zwra

C) faetn team

D) «ir@ Im

T AR 7R M W ‘@’ areft @) w6
T 1Y T Toig W uge W@ §) 3 it 3 ol
ST BT IR I QT =TT e aRomet o
1 3 f3a 7 ?

A) 90°
B) 45°
C) 60°
D) 30°

T e Tt atha @ 2 m A R v S et
T i 3k @ T wwan S RS
I F ot A v w9 Y 2w F wem
R
A) 0.05 TEIYR
B} 0.2 SRzt
C) ~0.5 SHiIget
D) 2 SRiex
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40.

41,

42.

An object is placed on the axis of a
convex lens. Its image is formed 80 cm
from the object. The magnification is 3.
The focal length of lens is

A) 15¢cm
B) 20 cm
C) 40cm
D) 45cm

A point source that emits waves
uniformly in all directions produces
wave fronts that are

A) Spherical
B) EMiptical
C) Cylindrical
D) Planar

In Young's double slit experiment, the
slits are horizontal, the intensity at a point
P as shown in figure is % I, where | is
the maximum intensity. Then the value

of 8 is (given the distance between the
two slits S, and S, is 2A).

|

Page No. 10

40.

41.

42,

T T I I o o A& T TG I | T
B 3% & 80 cm T SIS Sl 81 A
3 &1 3 oI i Wikl TS 8

A) 15cm

B) 20 cm

C) 40 cm

D) 45cm

e fiig wita < wfl famatt & w9 w9 @ A
1 IeaH Al 8, 907 3 (%) B T

A) TR

B) €id IR

C) SEHTEhI

D) w1

I ¥ e foore s #, g & g,

P forg T fteran, S <t ot w T
2, 313 ofv wr rfremam i ¥1 W= 0

i d (e fem e s 21 few S, 3
S, FfaF A r)l
P
s, S
2A
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43. Abeam of natural light falls on a system 43.
of § polaroids which are arranged in
succession such that the pass axis of
each polaroid is turned through 60°
with respect to the preceding one. The
fraction of the incident light intensity that
passes through the system is

1 1
A &4 B 35
_! 1 1

©) %% D) 512

44. The magnitude of gravitational field a 44,
distance r, and r, from the centre of a
uniform sphere of radius R and mass
M are I, and |, respectively. Find the

ratio of (l1| ) ifr,>Randr,<R.
2

B ——

2
p B
h1p

RS
B) =T
L i

R2
(r r)?

C)

p) |_R®
(n+r,)

45. Two satellites of a planet have periods 45,
32 days and 256 days. If the radius of
the orbit of former is R, find the orbital
radius of the latter

A) 3R
B) 4R
C) 5R

D) 6R
c

e e

e e

SITHTeTeh ST 1 G o 5 Genias $) us
Somredt ot fiear @ <t shreg v mn R, 99
o ® dioRiTE =1 9 1w 60° ¥ mem @
YR & watY o wee s § ) Ryee & e

QT Al Ml (3RiSe) s et
T T 8
1 1
N & %%
1 1
C) 5= D) 55
RIS &7 1 qioTer e R 3R zemm
M 3 @ e it & 3 A g0 v, 3k r, o
I
|,aﬁu2§mﬁ.rr,>naﬂu2<ln‘%,eh(/,2)
T ITIITE 4T hIfT |
a B
il
RS
Y s ,
H2
C
) (r )?
D) | R?
(r +13)
U UE % 3t SUEl o) 37afty 32 o afk 256
&1 et 31 2 et R A s R §,
&t T it el e = vam e
A) 3R |
B) 4R _
C) 5R

D) 6R ’ |
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46. A uranium nucleus (U?*®) at rest

47.

48,

decays by emitting o-particles of
velocity 2.8 x 107 ms™'. The daughter
nucleus is Th?*, Find Q value of the
reaction. (Given : atomic mass of
U2® = 238.04954 amu, mass of Th®*
= 234.028726 amu and that of o
particle = 4.00260 amu)

A) 16.96 MeV
B) 20.56 MeV
C) 12.39 MeV

D) 5.6 MeV

Which of the following logic gates is

an universal logic gate ?
A) OR

B) AND

C) NOT

D) NAND

In NPN transistor, the maximum current

passes through
A) Collector
B) Emitter

C) Base

D)} Same in all

Page No. 12

46.

47.

48.

uF Rivaw Tl (U2e) faam foafa @
2.8 x 107 ms~" 3 37 18t o-aHuli i Iearerd
AL B AT & 1§ TfreR Th23 B aAfwricran
&1 Q 4 Ta Hifvrg (e m gat @« U=e
=T 9TATY] W = 238.04954 amu, Th** 1
T = 234.028726 amu 3R o F9 H
M = 4.00260 amu)

A) 16.96 MeV
B) 20.56 MeV
C) 12.39 MeV

D) 5.6 MeV

e 3 2 e T e gfade SR
N2 ?

A) OR
B) AND
C) NOT

D) NAND

NPN giftreet 3 eiftraman e st & ot 2
A) FAFR

B) wHieX

C) ¥4

D) wft § @ S=n
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49. Transducer is a device which

50.

51.

A) Transforms power

B) Transfers data from one place to
another

C) Converts one form of energy into
another

D) Transponds

Electric flux ¢ through a closed surface
enclosing an electric dipole is

A) &9
B) q
c) 4
o
D) Zero

Copper of fixed volume V is drawn
into a wire of length 7. When this wire
is subjected to a constant force F, the
extension produced in the wire is A/
Which of the following graphis a straight
line ?

A) Alversus ;

B) Alversus 2

C) Alversus 1—12-

D} Alversus !

Page No. 13

49. TTHSTIR 98 1L |

50.

51.

A) v yiafda #ar @
B) 81 %t T e & gudt ST o

C) @ ¥ ! Soff =il ol &9 &t 51 &
wfafia st & r

D) uftarg (zimyis) s &

e ey & emefia uw o9 gae &
e Q TfaE o o g

A) §(q
B) q

c)

€

D) =

Fiveq V 7 % qia =t ) oo % v e &
HI 16T 81 99 36 9% HF PR a9 F
e T <men R, o= oR # SenRw Rmr
Al 21 1 3 @ v T et rar 2 7
A) AI‘«FITH}
B) Al 2

1

C) AlTH z

D) Al'sFTq ]
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52. A ball whose density is 0.4 x 10° kgm™

53.

54,

fails into water from a height of 9 cm.
To what depth does the ball sink ?

A) 4.5cm B) 6cm
C) 7.5cm D} 9cm

In a mixture of gases, the average
number of degrees of freedom per
molecule is 6. The rms speed of
the molecules of the gas is C. The
velocity of sound in the gas is

A) C B) %
3C 2C
o) %2 D)

A point mass is subjected to two
simuitaneous sinusoidal displacements
in x-direction, x,(t) = A sinwt and

X,(t) = Asin(mt + %n ) Adding a

third sinusoidal displacement

Xa(t} =Bsin(wt + ©) brings the mass to
a complete rest. The value of B and ¢

are
A) JEA.%"

B) A2E
3

C) JEA%"

L

A,
D) 3

Page No. 14

52.

53.

54.

e 11g Forgent T 0.4 x 10° kgm2 &,
9 cm = F=TE & gt | e &1 7% Foraeht
TEUS % gl & 7
A) 45cm

C) 7.5cm

B) 6cm
D) 9cm

gt & firsror A, wh s19) Taman 6 fedt fi
sfua e 6 31 g T o7y it s T .
T CRImE | wang

2C

A) C B) =
3C 2
s i
T forg e x-fewm 4 @ i

TrgaTEd faeT x (1) = A sinet 3R

X,(t) = Asin(mt+2?n ) % o7efiq | A

ATETETESS farem X4 (t) = Bsin(wt + ¢)
F e | gouue ) Ut IR fireen 1
BaRo®maea &

A) J.’_!A,%n

B) A,iT—t-
3

C) ﬁA,%

n

A,
D) 3
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55. A network of six indentical capacitors,

56.

57.

each of value C, is made as shown in
the figure. The equivalent capacitance
between the points A and B is

ATt T

Ly

IS/ B) 3¢,
C) 3% D) 4%

If the polarising angle of a piece of glass
for green light is 54.74°, then the angle
of minimum deviation for an equilateral

prism made of same glass is
[tan 54.74° = 1.414]

A) 45° B) 54.74°
C) 30° D) 90°
An electron and proton are

accelerated through the same
potential difference. The ratio of their
de Broglie wavelength will be

A) 1
o (Vi)
o) ()

Page No. 15

55. 6 T S8 Ut ol U Yeaeh, Toish &l e

C 3, S & fug o feamn w31 A 3B
fargott % oftw woges FARET ?

At T
L T yH—p

SIVA B) 3%,

c) 3% D) 4C4

56. afe & T1 i et & U g F gFR |

YelleRTor IV 54.74° ], @ TAF HiF & a1
T e fiw & v =y fesem &1
W ¥

[tan 54.74° = 1.414]

A) 45°
C) 30°

B) 54.74°
D) g0°

L

57. UF S9e R Wi gum wifaa i F

ureEd @ wia B §1 I & St aonked
<1 ITATE BRI
A) 1

o ()
o) ()
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58. The surface of.a metal is illuminated with

59.

60.

the light of 400 nm. The kinetic energy of
the ejected photo electrons was found
to be 1.68 eV. The work function of the
metal is

A) 1.41 eV

B) 1.51eV

C) 1.61 eV

D) 3.09 eV

After 2 hours, %6"1 of the initial amount of
acertain radio isotope remains undecayed.
What is the half-life of the isotope ?

A) 60 minutes

B) 30 minutes

C) 90 minutes

D) 120 minutes

ssAZ2 — 5,B%'° in this reaction, how

many a and B particles are emitted ?

A) 3a, 6]
B) 3, 4B
C) 4a, 3p

D) 6a, 3B

Page No. 16

58.

59.

60.

T Hrg =hi @ag 400 nm H Jeet F I
Bt 21 Fremfia B e i 1R St
1.68 eV UF 7| uig <t T o (Ger) 2

A) 1.41eV
B) 1.51 eV
C) 1.61eV

D) 3.09 eV

2 = % a1 WK AT & e el amgaieiy
HY W e s (i) w31 smede
1 Te-figehre fRan @ 7

A} 60 fire

B) 30 fime

C) 90 fire

D) 120 fame

35A222 v 348210 Wmﬁ%ﬁaﬁ
B IEaBla © 7

A) 3a, 6B
B) 3a, 45
C) 4o, 3P

D) 6q, 3P
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61.

62.

63.

64.

65.

CHEMISTRY

RCHO + H, —— RCH_,OH. This
reaction takes place in presence of

A) Pt B) Pd
C) LiAH, D) NaBH,

Cumene is oxidised in the presence of
air and is converted into and
acetone by treating with dilute acid.

A) Alcohol B) Phenol
C) Ether D) Ester

Acetyl salicylic acid is
A) Riboflavin
C) Aspirin

B) Proline
D) Serine

InLucastest, donotproduce
turbidity at a room temperature.

A) Secondary aicohols
B) Primary alcohols

C) Tertiary alcohols
OH

l

OH
Na,Cr,O, !
H,SO,
A) Benzaldehyde
B) Salicylaldehyde
C) Benzoquincne
D} Hydroxy benzoic acid

A Ais

Page No. 17

61.

62.

63.

64.

65.

RCHO + H, —— RCH,OH. == aififsmn
Tasht Iufeufa 4 gieft 2
A) Pt

C) LiAIH,

B) Pd
D) NaBH,

g 37t o T APfR & gRE A e
Juiedfe # sifedieno st 38 R
i & uiafda frar s @ |

A) sTREA B) feier

C) ™= D) T2

ftrersa ARl sna BT d ec
A) TgaIgifer B) Wi
C) &fm D) &

et Tl FR & T
R Ao (2fdfedt) der A o=l |

A) it sremieia .
B) wafis seeia

C) Tei9h STcehieiel
OH

| :

OH
Na,Cr,0,
H,SO,
A) STAfSEES
B) dfamsoieTdicess
C) Ssiagia
D) TSl siss ot

> AITETAR

12 NECE




66.

67.

68.

69.

70.

In the Wacker process, the oxidation
of ethyne to is
catalysed by PdCl,.

A) Ethane B) Ether

C) Ethanol D) Ethanal
EDTA* is ligand.

A) Hexadentate
C) Bidentate

B) Unidentate
D) Tridentate

is an example for
homoleptic complex.

A) [Co(NH,),CI]”
B) [Co(NH,), |

C) [Co(NH,),Cl |

D) [Co(NH,),CL,]"

A) [Mn(CN)sJ*
B) [Co(C,0.), ]
C) [CoR,[*

D) [Co(NH,), ]

For weak field ligands
A) Ap=p
B) 4p>p
C) Ap<p

1
D) A =§p
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is spin free complex.

66.

67.

68.

69.

70.

Yo TR o 3avseT i i

TeefieRer PACI, ST Ieifd BT © |

A) 33 B) M

C) 389 D) 39
EDTA+ag fae |

A) TFaTEde B) g

C) arEe D) IR
s wicaw ()
1 Teh IR # |

A) [Co(NH,),CiT"

B) [Co(NH,),]”

C) [Co(NH,),Cls ]

D) [Co(NH,),Cl ]
g fuBa |

A) [Mn(CN)s]*"

B) [Co(C.0,), ]

C) [CoF)*

D) [Co(NH,), |

FraR 87 forie F fu
A) Bo=p
B) 4>p
C) Ap<p

1
D) 4 =3P
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71.

72.

73.

74.

When phenol is treated with bromine
water is formed as white
precipitate.

A) 1,2,3-tribromophenol
B) 1,2,4-tribromophenol
C) 2,4-dibromophenol

D) 2,4,6-tribromophenol

When benzene is treated with CO and

HCl in presence of anhydrous AICI,/

CuCl, it gives benzaldehyde. This is
reaction.

A) Etard
B) Kolbe
C) Gatterman-Koch

D) Riemer-Tiemann

Fehling solution B is
A) Ammonical silver nitrate
B) Aqueous copper sulphate

C}) Alkaline sodium potassium
tartarate

D) Diisobutyl aluminium hydride

For aldol reaction, Aldehydes and
Ketones should contain atleast one
hydrogen.

A} o
B) B

C) v
D) &
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71,

72.

73.

74,

& M & o @ e w sihifen @
g, T%e IE8T & T
Heamar g |

A) 1,2,3-3smifETa

B) 1,2,4-¢sefticr

C) 2,4-miftmTet

D) 2,4,6-¢HiTATA

5 S R feia AICL /CuCl i sufeafa
# CO it HCI & sifyfmn ) wireht &, 7=

AMATSEILS <41 B | T8
R |

A) T

B) =icia

C) TiewH -
D) tm-3n=

YefomHi@ B 2

A) e faeat e

B) SiHiIg I ke

C) Ichaats Hifeaw wiefaam Trene
D) et Cafian TagRe

s ST 3 o vafeersem ol R
o 0 Y FH TH TSN BT R |

A) a
B) B
C) v r

D) &
12 NECE




75. Aldehydes which do not have an

786.

77.

78.

79.

o-hydrogen atom, undergo
A} Aldol condensation

B) Cross aldol condensaiton
C) Cannizzaro reaction

D) Wurtz reaction
HY

CH,CH = CH, + Hl ——
CH,CH,CH,| + X ; X is

A) CH,CH,CH,

B) CH,CHICH,

C) CH,=CH —CH,

D) CH=C-CH,

CH, —Br + AgF —— CH,F + AgBr.
This reaction is called reaction.

A) Swart's

B) Sandmeyer's
C) Perkin's

D) Finkelstein

Order of reactivity of alkyl halides
towards S 1 reactions are

A) CH3X >1°>2°>3°
B) 3°>2°>1°>CH;X
C) 3°>CHzX >1°>2°
D) 2°>3°>CHyX>1°

Chloroform is slowly oxidised by air
in the presence of light to form an
extremely poisonous gas known as

A) Freon

B) Carbon tetrachioride
C) Methylene chloride
D) Phosgene
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75.

76.

77.

78.

79.

o-FEIGISH T 1 BR 9 Teiieesed,
399 R4 ©

A) TAS GEqu

B) % TeEial G

C) hivwmr e

D) = wffeman

CHCH=CH,+H —>
CH,CH,CH,| + X ; agf X &
A) CH,CH,CH,

B) CH,CHICH,

C) CH, =CH - CH,

D) CH=C~CH,

CH,-Br+AgF —— CH,F + AgBr. 5@
P s _ sifiimnwea ®
A) WY

B) dedwm

C) uf=a

D) ke

S, 1 arfwimn i fem & srege dogew
i rfrfsraficTar =1 %m &
A) CH X >1°>2°>3°
B) 3°>2°>1°>CH,X
C) 3°>CHX>1°>2°
D) 2°>3°>CHzX > 1°

FANGB =l e -t gar gRr e Y
Iafefa 7 srisfisra foran wman &, v o=
7 Sedieht e & w9 § < S @
A) FaM
B) e+ IZTEIISS
C) Aftrei Feinrge
D) widsH
12 NECE




e —— S —

—————————

- ——————— e

80. IUPAC name of catechol is
A) Benzene-1,4-dicl
B8) Benzene-1,3-diol
C) Benzene-1,2-diol
D) 4-methyl phenol

81. pKa value of Benzoic acid is
A) 3.41
B) 6.13
C) 5.69
D) 4.19

82. is used as a food
preservative.

A) Scdium benzoate
B) Ethyl benzoate
C) Methanoic acid
D) Hexanedioc acid

83. Ammonolysis yields a mixture of
amines.

A) Primary and secondary

B) Secondary and tertiary

C) Primary and tertiary

D) Primary, secondary and tertiary

84. Stronger base among the folliowing :

(CH,),NH, CH.NH,, (CH,),N, NH,.
A) (CH,)N
B) (CH,),NH

C) CH, NH,
D) NH,

80.

81.

82.

83.

84.

Page No. 21

&ewie (catechol) T STEgfTE wm &
A) S -1,4-sEA
B) asfi-1,3-3/ @
C) sisia-1,2-s@d
D) 4-fFremge feate

sf<iTgen 3Tt W pKa I &
A) 3.41
B) 6.13
C) 5.69
D) 4.19

1 AN W TRIETF ¥
TR e |
A) wifeaw Seiee
B) 3fre sisige
C) A¥IEE v
D) TeTiErw v

amfn foveivn (smAifaRE) @
7T o e e @

A) e 3R feefas

B) feehaer oft gefiw

C) wrfien i geitaes

D) wrerfie, feeftaes ofk qefaen

1 % 9 weteg e (3) & -
(CH,),NH, CH,NH,, (CH,).N, NH,

A) (CH,)N

B) (CH,),NH
C) CH, NH,
D) NH,
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85. Reagents used in carbylamine
reaction are

A) Chloroform, ethanoic KOH
B) CCl,, ethanoic KOH
C) Chloroform, alkaline KOH
D} CCl,, alkaline KOH

86. Colour of anhydrous CuSOQ, is
A) Blue B) Green
C) Grey D) White

87. Chlorophyll is a co-ordination
compound of

A) Magnesium B) Iron

C) Nickel D) Cobalit
88. is used in the

treatment of lead poisoning.

A) EBT

B) EDTA

C) DDT

D) Ethylene glycol

89. In black and white photography, the
developed fitm is fixed by washing
with solution.

A) Silver bromide
B) Silver chloride
C) Hypo

D) Thionyl chloride

90. is the strongest
oxidising agent in aqueous solution.
A) Ti?* ion B) V#ion
C) Cr?*ion D} Co*ion

C Page No. 22

85. ifacemTg fifsrar # IuAm BRa
st §
A) TG, $8IEH KOH
B) CCl,, $8i5® KOH
C) s, amfa KOH
D) CCl,, &iria KOH

86. Fsier CuSO, =1 T & §

A) fren B) &
C) &R D) &%
87. FIUthel 0T TH-= AR 8
A) Bvifiem B) &®
C) et D) Hieee
88. HT ITERT He foerea #
A |
A) =it
B) Eidit
C) &
D) 3Rt e
89. W™ 3 vaq wieHmh ¥ fernle firen
% Ol A 9 A SIS ST g |
A) Frem sige
B) fyet F=inss
C) &
D) TeEMTRe TARIES
90. et wier A EECREC
AT Gle BT § |
A) Tiz+ 3w B) V2*31RH
C) Cr? A D) Co™ 3=
12 NECE
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91.

92.

93.

94,

95.

BIOLOGY

Product obtained from genetic
engineering used for the treatment of
Emphysema is

A) o - interferon

B) o -1 antitrypsin

C) o.- lactoglobulin

D) a - brazzein

The part of proinsuiin to be removed
to make it active insulin is

A) A-chain
B) B-chain
C) C-chain
D) Few amino acids from A-chain

In Amniocentesis, the sex of the foetus
is determined by the

A) Hormones in the amniotic fluid

B) Enzymes in the fiuid

C) Fat content in the fluid

D) Chromosomes in the cells of fluid

The hormones found in the blood of

initial pregnant ladies are

A) High levels of progesterone and
estrogens

B) High ievels of FSH and LH

C) High levels of ADH and OT

D) Testosterone and inhibin

Which of the following is not a
sexually transmitted disease ?

A) Trichomoniasis
B) Genital Warts
C) Genital Herpes
D) Typhoid
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91.

92.

93.

94,

95.

GIERCEIC]

Fraehifer 3 IR % forg 3w forg =1 =@
ATFERE (SAfew) Sfmain 3 ura sae ?
A) o, -FETHIT

B) o -1 Teiew

C) o - vEErsgfe

D) o - SS

TEGfer w1 7% fewn wen @ ufry gim
TR

A) A=A
B) B-=H
C) C-=H
D) A-=F & & AfiMT ot

Ieaaye (TferneRRm) & yu i fom 5o
g Fruffa foran ST 2

A) ufeifes ga 8 e

B) ¥ # USTsH

C) sa & Tar i

D) & % YR § g onE

YR THEd Aiearad & T 3 Y S a
THH &

A) TR 3R wEei & 3= &R

B) U%.Ud.UH. 3R UH.TE. & 359 &

C) T.E.ug. 3 3. &, & I=a &R

D) 3R 3R iR

P & @ Ag-w A g G A R 7
A) guaﬁnﬁﬁq&m_

B) S HEET

C) S T"

D) TE%ITS
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96.

o

97.

98.

99.

Identify the incorrect statement.

A) Unlike carbon cycle there is no
respiratory release of phosphorus
in atmosphere

B) Atmospheric inputs of phosphorus
through rainfall are much greater
than carbon

C) Gaseous exchange of phosphorus
between organism and environment
are negligible

D) Phosphorus is a major constituent
of nucleic acids

Why cattle’s does not graze on
calotropes ?

A) They are distasteful

B) They bear thorns

C) They produce cardiac glycosides
D) Plant is too tall

Why logistic growth model is more
realistic ?

A) Resources finally becomes limited
B) Populations are infinite
C) There is unlimited resources

D) There is no completion for same
resource

The relationship in an ecosystem can
be depicted in

A) Pyramid of energy
B) Pyramid of biomass
C) Pyramid of numbers
D) All of the above
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96.

97.

98.

99.

TS Y %l =TT |
A) FE 9% & el aigues § FReeRE
i %I¢ o Terd 7l et

B) 3wl & WeIw A BIERRY § IgHScA
FIYE e = g1 § Sga ek &

C) sfia 3R e & e wrowi =i i
Tt g &

D) =gfeReh o1 § GBI TE Gk Bl &

Setrgry o gy = A =T ¢

A) 3 sRefua B €

B) 3% i B &

C) A FITEUH TFHIAIZEH Ic9~ Ld &
D) fE Sga A e &

Tt e niger st qumdfard
w7

B) SHEA! 34 Bt &

C) =it garm B &

D) TuM Haree =% T s yofan i 2t 2
w wiifefeeft o 3 Gay w1 4 aftfa e
S EHAT R ?

A) St w1 FrIfre

B) =i w1 frafie

C) we i fimfie

D) swdam aeft
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100.

101.

102.

103.

104.

Ecological pyramid concept is not
completely accepted because

A) ltis always inverted
B) It has only four levels

C) ltis constructed on food chain which
is not existed naturally

D} No piace for producers

Which of the following is a in-vitro
fertilisation methods ?

A) IVF and ZIFT
B) IVF and GIFT
C) GIFT and ZIFT
D) Ul and ICSI

Which of the following is not a method
of ART ?

A) Artificial insemination

B) Gamete intrafellopian transfer
C) Zygote intrafellopian transfer
D) Vasectomy

Which of the following is not a natural
method of contraception ?

A) Periodic abstinence

B) Coitus interrupts

C) Lactational amenorrhea
D) Consumption of saheli

Inbreeding depression is due to the
cross between

A) Animals of same breeds

B) Animals of different breeds
C) Animals of different species
D) Animals of different genera
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100. urftfefae fiufire ereremon ot we & =

101.

102.

103.

104.

& <t Sl it

A) o8 HIT ST Bt ®

B) &% %act IR &R A &

C) o fomivr @ saen W 5 man B,
i iR §9 ¥ Al T R

D) Stareshi & foTe g we e @

=i g - o-f e R g ?
A) 1.2 uw. ofR Se.a1d s A,

B) 3Ts.4. . ot Sft.3ms.us. A,

C) it.o1E.us. &1, 3t .31 s, 4.
D) 318,731, afit s, o uw a1,

= 4 % F-m v.emA, (ART) @1 7=
TR ?

A) S mfE

B) e SeIheiua TAuR

C) rgiie SghmiIfi e

D) o9 el

1 3 9 F9-t i 6 Tk
ffaadig ?

A) GHI-T99 | H9d

B) Hea™ | T

C) oiEvme SHAIfwEn

D) ‘agelt’ F: A

YA (FThTET) eramme e s g
diferaga e

A) T& & T % FHR

B) fafe= & & SR

C) fafi= fFm & s

D) fafi= 51 & =R
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105. The vitamin C bio fortified vegetable
plants released by Indian Agricultural
Research Institute are

A) Carrot, Spinach and Pumpkin
B) Bitter gourd, Mustard and Tomato

C) Broad Bean, Lablab Bean, French
Bean

D) Maize, Wheat and Rice

106. Colour blindness is genetic disorder,
it is
A) More common in males
B) More common in females

C) Both male and female are equally
susceptible

D) More in transgenders

107. Chromosome number in the body
cells of male honeybee and in their
sperms are

A) 32 and 16 respectively
B) 32 and 8 respectively

C) 16 and 16 respectively
D) 16 and 32 respectively

108. If the recessiveness of a single
gene causes mental retardation and
reduction in skin pigmentation, then
the gene can be called as

A) Dominant gene
B) Epistatic gene
C) Pleiotropic gene
D) Polygene

109. Which of the following codons code
for the amino acid valine ?

A) GUU, GUC, GUA
B} GCU, GCC, GCA
C) GGU, GGC, GGA
D) CGU, CGC, CGA

o

105.

106.

107.

108.

108.
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NI HR ST G EN SRR faerfim
C <9 gz (I wifdwge) avefa dia &
A) TR, TTer SR F{g

B) Shiet, G it 2T

C) wehen (wiie ), e o1, F= =i
D) weent, g 3R =mae

FUiY U AR R 2, 78

A) ot ¥ stferes 3 B @

B) wfgemail # stfter 3w g1 3

C) &9 2R nfgend I =l ¥ T @
Ay gl ®

D) Zigsiet 3 aftren grar &

T AgAad} 3 IO =t Fifdrwed § sk
YRt 1 TR Y T B 8

A) FE: 32 3R 16

B) FWET: 32 2T 8

C) #uy: 16 3fT 16

D) ww: 16 37t 32

Tfg Fert weher ST st aTSeretan AT TYe Hear
TR TE= ToThar o Y o1 RO ol 8, @
<fi=t I e I HeT B

A) wee =

B) uftrefess s

C) femiife sfa

D) uifersiiv

FrafRaa & @ #9-w1 Fiea A e
A F R Fe T & ?

A) sty ..., st

B) si.#l.g,, s.dt#., shdig,

C) sh.sft.y,, sft.sh.+., stsfha.

D) disft.g,, dt.ste., dtshu.
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110. Milk of Rosie, the transgenic cow
is developed through transgenesis
contain

A) Clotting factor
B) More fat
C) More carbohydrate

D) High useful protein

111. ldentify the correct option.

a. Chlamydomonas i. Conidia

b. Hydra ii. Gemmules
c. Penicillium iii. Zoospores
d. Sponge iv. Buds

A) a—iii b-iv c-i d~ii
B) a-—ii b-iii c-iv d-i
C) a-iv b-ii c—ii d-i
D) a—ii b-iv c-i d-iii

112. This is the most resistant organic
material known till date

A) Exine
B) Sporopollenin
C) Intine

D) Tapetum

113. Kyoto protocol is related
A) Reducing Green house gasses
B) Controliing Ozone layer depletion
C) Prevent the use of Nuclear
weapons
D) Controlling water pollution

114. Which of the following is not a cause
for global warming ?

A) Deforestation
B) Reforestation
C) Use of fossil fuels
D) None of the above

c

110. ZESIFE M, Asht F1 gy giusRE &
areqy & faerfa B s &, Rred S

A) U T BRH
B) <9mar =El
C) 3iftreh weieRee
D) I=9 ST WA

111. @e fweq #t veaifi :
a) TIHSm-g i) siffEm
b) TeSt i) SeeE
¢) UFififerm iii) SEaRE
d) s iv) wforl
A) a—iii b-iv c-i d-i
B) a—ii b-ii c-iv d-i
C) a-iv b-iii c-ii d-i
D) a-ii b-iv c¢c-i d-ii

112, I8 A« 0% FI9 Aol THre St erd &
A) TEaTE
B) TR
C) ¥ers
D) 3Uen
113, FR) qafeE (Temd) s aeu 3 §
A) ¥ g13€ 7|1 & HH FAT
B) 3= uta it wift i Fafe s
C) T ERERT & ST Y Ve
D) STt wguor =t it s

114, Feafaiaa 3§ 3 F-ar s arfifn 5
RO TR E 7
A) =1 i TS
B) St
C) Stiamm a7 =1 3w
D) 3% 3 § ®i§ T
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115. Which of the following is not a hot spot ?

116.

117.

118.

119.

120.

A) Himalaya

B) Western Ghats

C) Indo-Burma Region
D) Gangetic plain

Recently extinct species from the
earth is

A) Tiger

B) Rhinoceros

C) Cheetah

D) Stellar sea cow

The number of threatened species
recorded in the IUCN red list 2004 is

A) 30000
C) 140000

B) 15500
D) 35000

Which of the following birds is on the
verge of extinction in India ?

A) Peacock

B) Pintail ducks

C) Hornbill

D) Great Indian Bustard

The plant considered as terror of
Bengal is

A) Pistia

B) Eichhornia

C) Strobilanthes

D) Antirrhinum

Embryological support for evolution is
proposed by

A) Ernst Haeckel

B) Karl Ernst Baer

C) Louis Pasteur

D) Hugo De Vries
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115.

116.

117.

118.

119.

120.

Frefefad 8§ @ - gie wie
(Saemefier TuH) iR 7

A) fEmrer

B) ufyenit w1z

C) $S1-=mi &=

D) i 1 few &

geefi @ w1 € 1 T B et wenfa @
A) ==

B) =

C) =

D) WReeR g1

. g, 41w, Fit 2004 i w1 A 7
TR H yenfaEt ) gem R

A) 30000 B) 15500

C) 140000 D) 35000

1 & w-w ugh wra & g g W
we ?

A) TR

B) frew wa@

C) THford

D) e 3fem e

STITeT <A 3Tceh, fore O8I |1 STTaT @ 7
A) ffemm

B) gehifan

C) Bifaciod

D) ufe=gim

forepra 3 fore ot forgm =61 Tmef 3@ g
weTfeE femam T

A) 3FE A
B) i 3FE &

C) TEd IR
D) T &t sfim
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MATHS o
0 X—a X-b 0 X—a x—-b
121. If i) =|x+a 0 x-cj, then 121. g f(x)=|x+a 0 x-c|?
X+b x+c¢ 0 . X+b x+¢ 0 ,
A) f(a) =0
A) f(a)=0
B) f(b) = 0 B =0
C) #0) =0 CRICIES
D) f(1)=0 DK =0

122.

123.

If x, y, z are all different from zero and
1+x 1 1

1 1+y 1 [=0,then
1 1 1+2z
111
—t—F—=
X y z
A) xyz
B) ——
Xyz
C) (x+y+2)
D) -1
it 81=18 “=2|then the vaiue of 123
s <=7 3l e valu |
X=
A) 3 B) +3
C) 16 D) 6
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122. AR x, y, zooft T & e € 3l

1
1+y
1

1
1
1+ 2

1+x
1
1

=0 %,
1 1 1

—t—t—=

X y 2z

A) xyz

B) ——
Xyz

C) (x+y+2)

D) ~1

2x 5

6 -2
Ife . x’=l7 3|%’,Fﬁx?ﬂm=l%

A) 3 B) +3

C) 6 D) 6
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124.

125,

126.

If A= [0 1], then matrix A2 =
10
[0 1
A) 10
B 1 0
) 1
C)

D)

J.eSIogx _ e4|ogx

dx =
ealogx = e2Iogx

e10|ogx

A
)10

+C

.[ e*(1+ x) o

cos?(e*x)
A) —cot{ex’) + ¢
B) tan{xe*) + c
C) tan(e*} + ¢

D) cot(e¥) + ¢

1

124, =% A=[O ;] , @ afeaw A2 =

125.

126.
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0 1
A) | 4 0]
10
Bl o]
0 0
C) 1o o]
10
D) lo 1]

J.BSIogx - edlogx
eaiogx = e2Iog:~:

dx =

e10logx

A
)10

+C

B) 0
3

c) X ic
3

x2

D) —+c
2

jﬂﬂdx =
cos®(e*x)

A) —cot(ex¥) + ¢
B) tan(xe*) + ¢
C) tan(e®) +c¢

D) cot{e’) + ¢
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127. If A and B are any two events such that
P(A)=0.8, P(B)=0.5 and P(B/A) = 0.4,
then P(AUB) =
A} 0.02
B) 0.98
C) 0.53
D) -0.02

128, I |[2X+Y &X|_[7 7¥y-13) yon
5x -7 4x y Xx+6

X+y=
A) 5
B) 4
C) 6
D) 7

129. Area of the region bounded by the

2 2

! X y .
ellipse — +I—=1is
PSe. 4 9

A) 36= sq. units
B) 8= sq. units
C) 9=r sq. units
D) 6x sq. units

130. The number of arbitrary constants in

the general solution of a differential
equation of fourth order is

A) 0
B) 4
C) 2
D) 5

127.

128. e

129.

130.
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Ifg A 3t B @i wem &, b & i,
P(A) = 0.8, P(B) = 0.5 3R
P(B/A) = 0.4, @ P(A UB) =

A) 0.02
B) 0.98
C) 0.53
D) —0.02

2x+y 4x| |7 T7y-13 2@
5x-7 4x| |y x+6 |

X+y=
A) 5
B) 4
C) 6
D) 7
x2 yz
ﬁﬁqa7+-§=1ﬁﬁiéamﬁmn%
A) 36n 1 3ETS
B) 8r = ghTs
C) 9n = 3ohTS

D) 6r =1 31§

<% OT & T STahe IR o AT B
A agfooe (nfocd) foris i gem &

A) 0

B) 4

C) 2

D) 5
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131. The value of C in Rolle's theorem
for the function f(x) = e*sinx where
xe[0, 7] is

D)

ala

132. If A and B are matrices of same order

then AB' +BA' is

'A) Symmetric matrix

B) Skew symmetric matrix
C) Unit matrix

D) Null matrix

133, Iftan™'x + tan™'y = 4?“, then
cot'x + cot'ly =

= L] &
A olw |y ol A

o

C Page No. 32

131. ®eM f(x) = e*sinx F T 4@ Wa A C =1
w8, wEf x [0, n|?

A)

NlA

B) —

C)

®|A

o) &
)4

132. it A 3R B <1t € urd & Afew §, @
AB' +BA' 8
A) gufta AidTw
B) ferm wmfta Afewa
C) s Afgw
D) ¥ (e Aiger

133, 3f§ tan'x + tan-'y = %’3 g,
cot'x + cot™ly =

o =z =
A olw U‘l':? o=

=

12 NECE




134.

135.

136.

137.

If |x|<1, then

2tan'x + sin™

2X 5
1+ x2

A) 0

B) %

C) 3tan'x

D) 4tan-'x

Let a function f : R — R be defined as
2x if x>3

fix)=4{x® if 1<x<3,then
3x if x<1

f(~1) + f(2) + f(4) Is

A) 9 B) 14

C)5 D} O

The equation of the plane with intercepts

2, 3, 4 on the x, y, z axis respectively is
A) 2x+3y+4z=1

By X. Y 2_
Fetata™

C) 3x+2y+4z=1

D) None of these

if a die is tossed thrice, the probability of
getting an odd number atleast once Is

A) B)

C) D)

Page No. 33

134.

135.

136.

137,

afe |x|<13,
2tan”'x + sin“(
A) 0

B) %%

C) 3tan-'x

D) 4tan-'x

2x I
1+ x2

uife &, e £ : R - R it =m@n
2x AR x>3

f(x)=4x? AR 1<x<3 @yFEREH
3x A x<1

TR, q f(—1) + f(2) + f(4) &
A) 9 B) 14
C) 5 D) 0

2, 3, 4 3T 91 W T AHIEFOT FHAI:
X, Y, z A9 B

A) 2x+3y +4z=1

B)F v Yy 240
Lot gt

C) 3x+2y+4z=1
D) ¥ & =id et

If¢ otd ® o IR I e B, A wH R

FH T =R 9n 9 8 3 warE &
A) B)

C) D)

@i o[-
Wl= o]

12 NECE




— —-—

138.

139.

140.

If A and B are two events such that
AcB,P(B) =0, then which of the
following is correct ?

A) P(A/B)=%

B) P(A/B)<P(A)
C) P(A/B)zP(A)
D) None of these

el

I X5 +2x+5

A %

B) V4

o %

D) None of these

Let Rbe arelation on the set N defined by

R = {m, n)/m,n e N and n divides m},
then R is

A) Reflexive and symmetric
B) Transitive and symmetric
C) Equivalence

D) Reflexive, transitive but not

symmetric

Page No. 34

138.

1
139.

140,

a2 A 3l B < weard §, 99 1,
AcB,PB)=0 &, = ddasm
@y ?

A) P(A/B)=%

B) P(A/B)<P(A)

C) P(A/B)2P(A)

D) ¥ & = et

A %
B) 4
c) %

D) 57 ] %I8 Wl

U2 N R R 1 goy w1y ff 3 wionfe
AR, R={(m, n)/m, neNaRn, m
) fosm T d), AR R

A) wies (ReifRm) o wafia
B) wee (giftfed) sk auftm
C) §9=®

D) witad, TehHe Sifeh wwia et
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141.

142,

N ik

143.

144,

If f:{2, %) — R be a function defined
by f(x) = x2 — 4x + 5, then the range of
fis

A) R

B) [, =)

C) [4, =)

D) [5, =)

If a set A has 5 elements, set B has
6 elements, then the number of
bijective functions from A to B is

A) 6°

B) °Ps
c) 2°-2
D)0

Letf:A—>Bandg:B—=Cbe
2 bijective functions, then (gef)™ is

A) f-1°g-1

B) fog

C) g lof

D) None of these

A relation R on the set {1, 2, 3} is
defined by R = {(1, 2)}, then R is
A) Refiexive

B) Symmetric

C) Transitive

D) None of these

Page No. 35

141,

142.

143.

144,

a2 f:[2, o) - RIF(X) = x2— 4X + SERT
afonf¥a wem 8, ot f R i R

A) R

8) [1, =)

C) [4, =)

D) [5, <)

TMAGASwEs €, RCBA 6w g, @
A B T ¥ TSR G f wem
A) 6°

B) °Fs

Cc) 2°-2

D)o

e, f:A-B3Rg:Bo Cd
ST ber &, @ (gof)' &

A) flog™

B) feg

C) glof

D) ¥ 4 =i§ 7el

(1,2, 3 RARFMET R ={(1, 2)}, =&
TR It = &, TR}
A) sfer

 B) wmfim

C) i
D) 37 @ =g T
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145.

146.

147.

The maximum value of objective function
Z = ax + by in a LPP subjected to the
constraints 2x + y < 10, x + 3y < 15,
X, Y, a,b = 0occurs at (3, 4) and (0, 5).
Then the relation between ‘a’ and ‘b’ is
A)a=b

B a=2b

C) a=3b

D) b=23a

The particular solution of the differential

equation g_y =—4xy?, given that y = 1
X

whenx=0is
1

X242
1

A) y=

B) Y=o 1

1

C) y=2xz+1

D) None of these

Which among the following is a

homogeneous differential equation ?
A) (4x+6y+5)dy-(By+2x+4)dx=0
B) (xy)dx — (x? +y?)dy =0

C) (x® + 2y?)dx — 2xydy =0

D) All of the above
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145.

1486.

147.

T T 1L, § g BeH z = ax + by
=1 AT 7 2x +y < 10, x+ 3y < 15,
x,v,a,b = 0 (3, 4) 3K (0, 5) F wredt &,
WA & 99 &, @ ‘2’ i b Fflw
I HeY ®
A) a=b
B)a=2b
C)a=3b
D) b=3a

9 x = 0 BT 2, 99 ghd eIy

%:—4xy2 Wﬁﬂﬁi’a%’ (Y"_" 13%

T T )

1
X2 +2

A) Y=

B) Y=o 1

1
SN Sz

D) T & i Tl

e % ] B T e a7
A) (4x + By + 5)dy — (By + 2x + 4)dx =0
B) (xy)dx — (x* + y?)dy = 0

C) (x3+ 2y*)dx — 2xydy =0
D) St ot
12 NECE




148,

149,

150.

If the vectors & and b are such that

|§|=3,|5|=% and d xb is a unit
vector, then the angle between & and
b is

B) %

A %
c) % D) %

The projectionnof the vector i—] on
the vector i+ | is

A) 1

B) -1

C)o

D) None of these

The angle between the pair of lines
T =38i+2]- 4k + Al + 2] + 2k) and
T =5i - 2j+ p(3i + 2] + 6k) is

119
A) Ccos (EJ
. 119
B) Sin ["—2—:")
4 9
C) cos [EJ

D) sin™ (%)

148.

149.

150.

& x b dw § ofaR stk ¥ 8
%, 3] =[] =2, 9 ash B
1 H0 3

A % B) %
) % D) %

¥R - jwmar (4] W
(ShrR) ® -
A) 1
B) -1
C) 0

D) 5 & 3 7

AT Y e
F =3i+2] - 4k + A(f + 2] + 2k) s

F =5t~ 2] + p(3i + 2j + 6k) F =TT
T

419
A) cos (21J
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Answer Key for 12 NECE (Set-C)

Q. No. | Answer Key

Q. No. | Answer Key Q. No. | Answer Key
1 A 51 B
2 B 52 B
3 8 53 B
4 C 54 8
5 B 55 D
6 A 56 C
7 C 57 C
8 A 58 A
9 A 59 B

10 C 60 B
11 A 61 B
12 C 62 B
13 D 63 C
14 C 64 B
15 D 65 C
16 A 66 D
17 A 67 A
18 D 68 B
19 B 69 C
20 A 70 C
21 B rA| D
22 D 72 C
23 B 73 C
24 C 74 A
25 D 75 &
26 B 76 B
27 A 77 A
28 A 78 A
29 D 79 D
30 D 80 C
31 A 81 D
a2 C 82 A
as B 83 D
34 B B4 B
as D 85 A
36 cC 86 D
37 B a7 A
38 C 88 B
39 C 89 C
40 A 90 D
41 A N B
42 A 92 C
43 D 23 D
44 B 94 A
45 B 95 D
46 A 96 B
47 D 97 c
48 B g8 A
49 c 99 )
50 D 100 C

101
102
103
104
105
106
107
108
109
110
111
112
113
114
115
116
117
118
119
120
121
122
123
124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139
140
141
142
143
144
145
146
147
148
149
150
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